WinHW 8520 km/s 1358 1437

rm816 AVG BLR SilV 1396.76

S/N —0.508

velocity (km/s) z=1.637190

|||||||||| iy
:!|III'IIIH
Il
i
T
NU)
)
£
S I i
§° R
~
T
. i
w O "II
Z6000 —4ooo —2ooo 0 2ooo 4000 sooo 8000
velocity (km/s) z=1.637190
rm816 AVG BLR Hell 1640.42
WinHW 11075  km/s 1581 1702 S/N —0. 709
rths 4411(45895:2‘.8) ' [ ] || ' gs —1.29(96)E—17
" ad, 3796(3954£274) : -6.8(9.6)E-18 ]
o H '
1 ol —3031(-2560.500) L1 | fwhm 7635(8589:4292))
= 3989(—2917:+1423) L1 > 4981(4280+4855)
o S ¢ 10(—4050+£3113) . L) . ]
'e 1 ]I | .
3] [ >
g
~ ol ; sl roe |
I‘c_> .
N B i LY, LS
I IR R N k. 4 ]
¢ L s 1
S L o A A< A Y [ | Ll f L ]
! —10* —5000 0 5000 10*
velocity (km/s) z=1.637190
rm816 AVG BLR MgIl 2798.75
WinHW 5520 km/s 2720 2879 S/N 315
rths 2548(26125:68) ' Il ' ' cgs 1. 180(37)E— 6 :
M L nad 2026(2060+52) 1.175(37)E-16 -
o
o alg —91(~110£83) ? | fwhm 4805(4802+214) 1
o med —256(—264+58) & 2 > 4805(4801+214)
o o[ t4p —418(-361£155)
IE ol n v D) ]
o 0
g | ! el
'\ﬂ) [] [~ |] i
Ttk | 01k * 4
© o \ i ﬂ
= ! Y I e 1
e S AN 1 T P
L = 1 | ” 1 . | | ” 1 1 . - Y
-8000 -6000 —4000  —2000 0 2000 4000 6000 8000

BLR 8520 NLR 900 km/s BLR 8520 NLR 900 km/s

BLR 8520 NLR 900 km/s

f, (1077 erg em™2s7'47")

0.4

f, (1077 erg em™2s7'47")
0.2

rm816 AVG BLR CIV 1549.06

WinHW aszo km/s 1506 1594 ‘ S/N 41.2
T T N T T T T
rins 2721(2954i47) | (. 258(87)E— 6
mod 2067(2372+39) B 3.563(87)E-16
alg —289(~29861) It fwhm 2721(6556+198)
" med —319(—429451) > 2721(6556+19%)

tqp —352(—760+126)

.r

N1 il W [

—8000 —6000 —4000 —2000 o] 2000 4000 6000 8000
velocity (km/s) z=1.637190
rm816 AVG BLR CII] 1908.73
WInHW 8520 km/s 1855 1954 S/N 101

S

hs 2567(2783+188)
mad 2022(2178+142)

g —759(~568+252)
ed —633(—529+131)
tgp —404(—394+30)

3 0

cgs 9.43(1.02)E-17
1.031(102)E—1
fwhm 3385(3472+26
> 2537(2695+36§

vum

—6000 —4000

—2000 0 2000
velocity (km/s) z=1.637190

4000

BLR 8520 NLR 900 km/s

BLR 8520 NLR 900 km/s



